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1. ANELHE
NER: dEEs) EERZSEE At
Heis E2007-0130 HEES e
K 2= Al 2020-07-07 HMAUXL 2020-07-07
ECR 2020407229 ZAFEH R A=
o S Hetd e Z2Ta 2138 s8] (ZTa8sE)
2. =HZAA Z2f
7t. BAHZ D B
o g e
FEI|IE ZOHEE
Lt st=58 HAZD (THRI7F mg/L 0]2lo] 52 olbto) HE HA|)
S 7|E(mg/L) | ZiK(mg/L) | HFOHF HArS S 71E(mg/L) | Eikmg/L)| HFHF
AdbN| 100 EHE gt THEga 40 0.95 gt
e PN 24= 24 =gt SEZ|ZZ=HE 0.1 0.032 st
&/ di&a EHE EHE Xzt 22238 0.08 0.021 e
= 0.01 EHE At Z2Esl0|Eg0|E 0.03 0.0067 =3t
24 15 EHE Mot CIEZ2DOtNELEE 0.1 0.0009 et
H|A 0.01 2Hs =3t CIE2Z2ONELIEE 0.09 0.0034 At
e & 0.01 EHE =gt EZ 2220 ELET 0.004 EHE =k
=2 0.001 EH4E =t 20N EIOIA | E 0.1 0.020 &gt
Alot 0.01 24= =g ZEAMHGI= 0.5 2HE gt
ag 0.05 =45 i) a2 300 131 =gt
toL{Ope E A 05 24= X3t DY ZHAZE A |2 10 26 3t
EHASE A 10 1.1 =gt A s AS gt
=4 1 0.03 3} ot AS s gt
FIEE 0.005 2= gt +2|(5) 1 245 ki
o= 0.005 24 =k Me 5 E4E e
1,1,1-E2[ 2220 &t 0.1 2HE =gt M| 0.5 EH= gt
HEZISZ20 /2 0.01 EH= ki $A0|25E 5.8~8.5 6.8 At
EREEENVEE] 0.03 EHE 3t oF¢d 3 0.010 et
CI2Z220E 0.02 EHE g} gA0|2 250 10.6 =t
il 0.01 EHE gt SUrFE 500 91 =%t
E29 0.7 EHE g} A 03 24E ot
of| &/ eIl 0.3 24E M5t iy 0.05 =HE gt
AMH 0.5 EHE =k = 0.5 0.10 =5t
11-CIE220|Ed 0.03 EHE =gt gHito|2 200 6 )
At EFA 0.002 EHE gt 2205 0.2 2HE &3}
C}O|O}X| = 0.02 EHE = o} HEOrES220E 0.03 0.008 &3}
If2tE| 0.06 2A4= =gl ClE2Ra S22 0| 0.1 2H1E Het
L EEER 0.04 24 X3t 1,4-CHO| 4t 0.05 =HE =i
7HuHE 0.07 2= g} HEMY 0.01 0.0016 =t
12-CE2x 3-B22T2H 0,003 EHE et
* EER7F mo/L7t OtHl =2 AEEM|R(CFU/mL), BOHE T, CHE D /2| HUE T (/100mL) , EFE(NTU), M=(E), O] A|L|Of(/2L),
2HE(Bq/L), T20|2529| thel= gl8, a4t HAIQ &2 tHels Heg SESTAYY|IE WE

X 2 AAF AEME QE|Q10] MAITH AR SHFEE|N 47| 55 o|elo| &1, MW S0j= 0|8
A
@O MMBAAIY O EO| A |5




Eas MXsZAAJLS
GolMdTAZFZALH
(573097 e YT YAS O MEBE 30/851061-381-7981/22:061-381-0981 / HAL-LB|1E yeain- HE-HASHALEC 3705”714/[
= A X ZTEYSI=E A A W ETETETET) 061-430-3765
A K=} 59241
detde 3T 4TS £X1Z 109-62
Xl = T EHAAM dHN
LB YBI=E A YA (#3sh
H=2 27| A A SO &8t & N3EN2E 0 met Heg SEHANYEHME otafjer ZHo| gF et
1. AIZWE
NS s olz|ol/d= 2o
Heds E2007-0131 REEZ BN
ENN 2020-07-07 Hxt 2020-07-07
ek 2020507829 ZHAIEH HIANE
MeEa Fetde 28 YW X 22| (HIAUPHTT)
2. =EAA At
7t dArAD B
H = et
FEI|E zaes
L. eh= AAFZE D (T2 7F mg/L 0]2(2] T5 2 StThof 8= EA|)
qags 7|=(mg/L) | Z3Kmg/L)| HEAE dags 7|E(mg/L) | Zik(mg/L)| HEojE
UM 100 =4 et nREL 40 0.49 et
shgdx g224= 4 et SEe[gZ0|E 0.1 0.028 =3t
&/ 2 &R =HE =HE 3t EEEE-) 0.08 0.021 ESET
=] 0.01 =HE 3t E2ESI0| =8 0|E 0.03 0.0071 gt
=4 1.5 2HE =3t CIHEROINELEE 0.1 0.0009 ot
H| & 0.01 =4 e CIE220MELER 0.09 0.0032 B
s 0.01 EHE g EZ|ERZROMELEH 0.004 24 =g}
T= 0.001 EdE e 20N E oA = 0.1 0.015 =g
Alet 0.01 EHE =gt ZELHBIE 0.5 2HE =k
g 0.05 EUE et 3= 300 80 =gt
ZRLotEE A 0.5 24 e DUZHAZEAH|E 10 1.8 ST,
AMEEA 10 0.9 ki A A 18] e
e 1 0.02 =g gt s A4S g
ItEE 0.005 =HE et +2(85) 1 BAS =3
o= 0.005 EHE ot M 5 2HE =y
1,1,1-E2 2220t 0.1 BHE =gt M| 0.5 EHE gt
HEZIZZZ0|2d 0.01 =4E &gl FA0|25E 5.8~85 6.7 et
EZ| 220123 0.03 b =gt ofd 3 0,004 X3t
CIE22ME 0.02 4= EE] gaol2 250 9.1 =gt
) 0.01 EdE e FUNFE 500 50 =y
E=q 0.7 ErE = H 0.3 E4E =g
UERR 0.3 2UE =gt 2zt 0.05 £4s IS
EER 05 EHE gl El 05 0.10 Y
11-CIZEZ20 23 0.03 EHUE L gto|2 200 4 ESER
At et e 0.002 24E Ha U205 02 27 =5}
CHOIOH] &= 0.02 gdE gt EEEREEELT, 0.03 0.006 =,
nj2tE|2 0.06 2= g FEEEEEELTE 0.1 £4= =g
HLUEZE2 0.04 EHE =gt 1,4-CHO| =2 At 0.05 2= =&
7k 0.07 gd= =gt HEMY 0.01 0.0044 =g
12-CE23 3322220 0003 =4E e
* EHRI7F mo/L7t OF el B 52 YUHMMF(CFU/mL), SOE R, /2 47T (/1100mL) , EE(NTU), ME(E), O AlL|Ok(2L),
2H=E(Bg/L), 202529 Eel= g, a5tol MAlQ &5 thele Hes SASTAY|IE mE
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